Multiply and Divide Radicals 2

Multiply. Assume that variables represent nonnegative numbers.
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Multiply and Divide Radicals 2
Rationalize the denominator and simplify. Assume that variables represent positive numbers.
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Simplify. Assume variables represent nonnegative numbers.
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Multiply and Divide Radicals 2
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Multiply and Divide Radicals 2

Multiple Choice. Simplify by rationalizing the denominator. Assume that variables represent positive numbers.
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Use the rules of roots and exponents to simplify.
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Answer Key



